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Why Dark Radiation?

» Why more "dark stuff"?
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» Why more "dark stuff"?
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» If the excess is real...

» New relativistic species at T 2 eV
* mpr < €V (usually) — suppressed interactions with SM



Axion = Dark Radiation?

» "Free candidate": QCD axion (Strong CP Problem)
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» "Free candidate": QCD axion (Strong CP Problem)
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The PORES

» SUSY version:
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The PQMSSM

» PQMSSM Masses:
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The PQMSSM

» PQMSSM Masses:
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The PQMSSM

» PQMSSM Masses:
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Cosmological Evolution
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ANggr in the PQMSSM
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ANeff in the PQMSSM
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ANggr in the PQMSSM
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AN¢gs in the PQMSSM
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ANeff in the PQMSSM

» What if the axino is stable?
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ANggr in the PQMSSM

» What if the axino is stable?

» a LSP:
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» & LSP:
NLSP - a3 DM =a+ a
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